BREAKING SPAGHETTI                            Name:  _______________________
Each group will need:  spaghetti, a cup with a string, and weights
1)  Place two desks about 6 – 8 inches apart.
2)  Loop the paper cup over one piece of spaghetti where the opening between the desks is.  Gently hold the ends of the spaghetti.
3)  Place your weights (marbles, pennies, or nickels) into the paper cup until the spaghetti breaks.
4)  Keeping the same distance between desks, repeat this process for different numbers of strands of spaghetti.
5)  Make a table comparing the number of strands of spaghetti (L1) versus how many weights it took to break them (L2).
6)  Make a scatter plot of your data.

7)  Find a line of best fit for your data.
8)  Write the equation of that line:  ________________________________
9)  Answer the questions below:

A)  If you had 50 strands of spaghetti, how many weights would you predict 


you would need to break them and why?

B)  If you had 600 weights, about how many strands of spaghetti would that 


break and why?


C)  What are four factors of this experiment that could affect the data you 


get?

